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KoplUdeg X Y NAevpéc
Al 285786.10  4291686.33 11.08
A2 285797.13  4291685.25 36.04
A3 285832.72  4291679.58 10.38
A4 285843.09  4291679.27  22.22
A5 285865.09  4291682.32 8.76
A6 285873.85  4291682.21 39.57
A7 285913.16  4291677.60  17.51
A8 285930.64  4291676.72 11.28
A9 285941.92  4291676.98 14.91
Al0 285956.76  4291678.35 11.43
All 285967.78  4291681.40  10.55
Al2 285977.39  4291685.75 10.55
Al3 285986.73  4291690.66 10.99
Al4 285996.69  4291695.31 23.39
Al5 286018.21  4291704.49 21.33
Al6 286037.52  4291713.55 7.06 |
Al7 286043.33  4291717.56 6.69
Al8 286048.49  4291721.83 8.16
A19 286054.28  4291727.57.  14.06
A20 286062.98 - 4291738.62 5.86
A21 286066.19  4291743.53 7.22
A22 286069.23  4291750.07 7.12
A23 286070.56  4291757.07 37.25
A24 286099.69  4291733.84 51.47
A25 286060.42  4291700.56 ~ 47.77
A26 286019.24  4291676.35 57.84
A27 285965.95  4291653.86 39.81
A28 285926.15  4291654.37  108.86
A29 285817.34  4291650.98 43.93
A30 285775.69  4291664.96 31.84
A31 285748.30  4291681.18 16.76
A32 285764.83  4291683.94 21.41
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KwdLKOG: TMHMA 2 E= 3528.39 u?

Kopugec X Y NMAevpéc
A33 286068.74  4291818.00 17.21
A34 286052.59 4291812.07 8.66
A35 286044.89 - 4291808.11 13.80
A36 286037.69  4291819.89 14.56
A37 286029.58  4291831.98 14.45
A38 286021.13 4291843.70 10.26
A39 286014.08  429185%.15 8.19
A4Q 286006.26  4291853.57 10.42
A4l 285995.86 4291854.24 8.70
A42 285987.30 4291852.67 9.39
A43 285977.94  4291851.95 8.91
A44 285969.05  4291852.61 8.20
A45 285961.05  4291854.38 5.55
A46 285955.87  4291856.38 20.44
A47 285958.34  4291876.66 89.55
A48 286047.87  4291874.76 60.48
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X = 28567119
Y o= 4291851.34.
B = 159.817°"
R = 60.00
KA = 1161
AA' = 27.18 1
Q0 = 15.09
1= 10.42712 = 187
Al = 25.001A2 = 10.00
gl = 0.08e2 = 0.00
KA = 1569 KA = 11,73
K7

X = 286015.66
Y = 4291857.53
B = 110.481°
R = 35.00
KA = 7.76
AA = 51.40
QR = 33.54
L1 = 1143712 = 643
Al = 2000/A2 = 15.00
el = 0162 = 0.05
KA = 29.99 KA = 27.65
K6 |
X = 286076.29
Y = 4291745.39
B = 104.429°
R = 20.98
KA = 6.29
AA = 4257
Q0 = 12.78
L1 = 1906712 = 10.72
Al = 2000 A2 = 15.00
el = 072 €2 = 0.23
KA = 2578 KA = 22.30
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MANTPOTOIXOS / gg. = %?32 ég' = ?ggg
L= 6.67 L = 10.67
OPIO ASGAATOSTPOMENOY APOMOY A = 20.00 A = 40.00
g = 0.03 g = 0.03
e KPAZTEAO KA = 12,62 KA = 20.70
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e t5ETE8%T (B = 1609410
= 120.000 R = 80.00
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= 2083 L= 11.257
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